Efficiency vs Dxy(PV)

0.5

0.45]
o 0.4
20.35

vs dxy(PV)

efficien:
R o
w

o
N
Ul
R L L L R L LRy LA LR LA

Ratio

-5 0 5 10 15
TP dxy(PV) (cm)

20

[ Efficiend]

kX

OTgmal StepZ_bar-phaseLT

I_pixelCPETemplate sFeéJZ ttbar-pl
“pixelCPETemplateCutChiSquare:
_pixelCPETemplateCutChiSquare:
“pixelCPETemplateCutChiSquare:

pixelCPETemplateCutChiSquare:

< 0.5

asel-new%eom

)_step2_ttbar-phasel-newgeom
_step2_ttbar-phasel-newgeom
_step2_ttbar-phasel-newgeom

step2_ttbar-phasel-newgeom

>

o
)
ol
S L s L) e LALAs LR L e L

Ratio
=
9
T

Efficiency vs Dz(PV)

0.2 04 06 0.8
TP dxy(PV) (cm)

0.5
0.45
2 04
80235

0.3
0.25

0.2
0.15

dz(PV)

efficie

0.05]

Ratio
-
I
T

il

10 20

30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

0.8

0.7

0.6]

0.5]

efficiency vs dz(PV)

0.4]

0.3]

Ratio
N
S

B 1
TP dz(PV) (cm)



	Contents
	Page 1


